Homewok 4 Golutiou

5.\ 0447?-«-'— wents: A uvedve 1 teals ‘
3 % J%w‘b } i
e 5 fw:{s
PLf=2) = PLEnhnl) = 0.8!’: 0.1V
P\ =0)= P(An(BUL) = PLa) pLBUY)
2 (r-l) = ey
Pk‘{"*) = f-.%ib- 0f2: Wb
b-; He {ow? ot +oted probub: hry

1]

ye0l| ELY) = lg?aﬂ) )+ 2 (L3) £ 30+ 40 2
ELY) = S ) = 1w «T(3) + T+ T () = bt ]
ELY=1)= ELYY) -1 = [lL.u»)+4—(.&)*?{.)}-&15(.1}] -l=5-|=¢
viY) = B -(EY) = 5-27=]

b b o 78] we've ghowe tat PU=Y) =R, tnﬂdﬂ :

3 L
%, t.L\U = 5 l—'v;' = h {1 <+n) = . hLuﬂJ
i

3

2=

- . ¥ . r b Htaﬂ}u.wn) (net) [ Juts)
EVY) =1 ,-u,;' = wL}l’f?f‘?""‘%) Y —-—-—*)5
viY) = B -(EY) )
_ (ne)iamry) L)t n-l
R . R

’;.‘-l Dl)ﬁa‘wt G = fabm {w d.n'mafwj gne Cowrd

G
« " pe
59 Ly
ks

td

- oty

E(G) = 3 apla = 1s(F) ¢ 5(55) -wtp) - SRRy
The opeured fuin 15 ¥



i-hell {= 4 o {wlsif:ul ol Lt ow ‘tm‘lw} ~ Dlingwisk (G, .35)
PUY20 = -RY=0) =1 - (%) (35)"bS) =1-.ub <. $8¢
P LY 22) = 1-PtY=0) - PLY=1)

1-.ub - 15)(8) L be)t

e - 3 = .9721

]

’a-éba"f’* sty oW C Het dfet the wminile ~ Bivowial (5 ,9)
Pl =4)= (3) .9y =. 00808
PiYzi) =1-P=0) = 1- (§)09)°()" =. 94949
b n vodoo s, the puobekilty o ot (east gue  cletection
o Pz = l-Uys0) =1~ (%) (.8)°)"
= |- (.t)n

ve kuno |- l.l)h’=.9‘?‘i = n=)

Loy e

390 Y ~ Bivewiod (10, 1)
ELY) = wp = tox)) = |
VL‘(l=wP€b=zo(-l)l.?)=.?

3y =4 f%mm wetery oWl "1[7 (0 Thew {~ Binomisd 119,.08).
RV ERRIITOENS
The sthler goaws #1900 gu e sule -Vk (0 jpuotess B{
loser & yo0 th cuvk d-l)DLoﬁua_ The sthler's apected
. (#)
1000 ~ JooE(Y) = (990 - p00(.8) = QYo



